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CO-ORDINATE GEOMETRY
निरे्दश ांक ज्य निनि
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Distance Formula -
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Internal Section Formula-(अन्त: विभाजन सतू्र )
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External Section Formula-(बाह्य विभाजन सतू्र )
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Mid-point Formula-(मध्य- वबिंद ुसतू्र )
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Area of a Triangle (वत्रभजु का के्षत्रफल)- The area of a triangle ABC whose vertices are 

A (x
1
, y

1
), B (x

2
, y

2
) and C (x

3
, y

3
) is denoted by ∆. 
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Area of a triangle 

Area of a triangle formed by co-ordinate axes and a line ax + by + c 

= 0. 

एक रेखा ax + by + c = 0 और वनदशेािंक अक्षों द्वारा बने वत्रभजु का के्षत्रफल 

∆ = ⸠
𝑐2

2𝑎𝑏
⸡
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Ex1-: Find the area of the triangle which formed by 4x + 3y = 12 on x and y axis.

उदा: वत्रभजु का के्षत्रफल ज्ञात कीवजये जो x और y अक्ष पर 4x + 3y = 12 से बनता ह।ै

A. 144 cm2

B. 6 cm2

C. 16 cm2

D. 24 cm2
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Centroid of a Triangle- निभुज क  केन्द्रक

A (x1, y1)

B (x2, y2) C (x3, y3)

Co-ordinates of Centroid (केन्द्रक के निर्दशे ांक

-

G (x , y) =
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Ex 2-: Find the centroid of the triangle whose vertices are P (3, 5),   Q (– 2, 8) 

and R (4, 7) ?

उदा: वत्रभजु के केन्रक के वनदशेािंक ज्ञात कीवजये वजसके शीर्ष P (3, 5), Q (– 2, 8) और R (4, 7) 

हैं ।

A. (5 , 20 )

B. ( 5/3, 20/3)

C. (20/3 , 5/3 )

D. (20 , 5 )
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1. If the triangle is equilateral, then centroid, Incentre, Orthocentre, Circumcentre

Coincides. 

(यवद वत्रभजु समबाहु ह,ै तो केन्रक, अन्तः केन्र, लम्बकेन्र, पररकेन्र सम्पाती होते हैं )
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2.  Orthocentre, centroid and circumcentre are always collinear and centroid divides the 

line joining orthocentre and circumcentre in the ratio 2 : 1.

(लम्बकेन्र, केन्रक और पररकेन्र हमेशा समरेखीय होते हैं और केन्रक, लम्बकेन्र और पररकेन्र को वमलाने 

िाली रेखा को 2: 1 के अनपुात में विभावजत करती है )
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3- In an isosceles triangle centroid, orthocentre, Incentre, circumcentre lies on the same 

line. 

(एक समवद्वबाहु वत्रभजु में, केन्रक, लम्बकेन्र, अन्तः केन्र, पररकेन्र एक ही रेखा पर वथित होते हैं)
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4. Incentre divides the angles bisectors in the ratio (b + c) : a, (c + a) : b, (a + b) : c

(अन्तः केन्र कोण वद्वभाजकों को (b + c) : a, (c + a) : b, (a + b) : c के अनपुात में विभावजत करता ह ै)
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Straight Line

General Form : ax + by + c = 0

 Line Parallel to the x-axis : y = b 

 Line Parallel to the y-axis : x = a

 Slope Intercept Form : y = mx + c

 Point Slope Form : (y – y
1
) = m (x – x

1
)

 Two point Form : (y – y
1
) =  

𝑌
2
−𝑌

1

𝑋
2
−
𝑋
1

(x – x
1
)
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Slope (gradient) of a Line (एक रेखा की ढलान (प्रिणता)

1. The slope (gradient) of a line is a measure of the incline of the line. Tangent of the 

angle of inclination of the line is calculated as slope of the line. The formula for slope 

when angle of inclination of the line is given

वकसी रेखा का ढलान (प्रिणता) रेखा के झकुाि का एक माप ह।ै रेखा के झकुाि के कोण के थपशषरेखा की 

गणना रेखा के ढलान के रूप में की जाती ह।ै ढलान का सतू्र जब रेखा के झकुाि का कोण वदया जाता है

m = tan θ
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Slope (gradient) of a Line (एक रेखा की ढलान (प्रिणता)

2-: Finding slope when a line is given: प्रिणता ज्ञात करना जब एक रेखा दी गयी

If a line ax + by + c = 0 is given, then slope of the line is given by

यवद एक रेखा ax + by + c = 0 दी गयी ह,ै तो रेखा की प्रिणता दी गयी ह ै

m = – [
𝐶𝑜𝑒𝑓𝑓𝑖𝑐𝑖𝑒𝑛𝑡 𝑜𝑓 𝑋

𝐶𝑜𝑒𝑓𝑓𝑖𝑐𝑖𝑒𝑛𝑡 𝑜𝑓𝑌
]
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Finding slope when two points are given:  (प्रिणता ज्ञात करना जब दो वबन्द ुवदए गए हों)

If two points A (x
1
, y

1
) and B (x

2
, y

2
) are given, then slope of the line AB is     

given by

यवद दो वबन्द ुA (x
1
, y

1
) और B (x

2
, y

2
) वदए गए हैं, तो रेखा AB की प्रिणता दी गयी ह ै

m  =  
𝒀
𝟐
−𝒀

𝟏

𝑿
𝟐
−
𝑿
𝟏
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Ques-: Find the slope or gradient of a straight line whose inclination to the positive 

(+ ve) direction of x-axis in anticlockwise direction is 45°?

एक सरल रेखा का ढलान या प्रिणता ज्ञात करें वजसका झकुाि िामाितष वदशा में x- अक्ष की धनात्मक

(+ ve) वदशा में झकुाि 45° है

A. 1

B. 1/2

C. 0

D. 2
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Ques-: Find the slope of the line that passes through the points (– 1, 0) and (3, 8) ?

रेखा की प्रिणता ज्ञात कीवजये जो वबन्दओु िं (– 1, 0) और (3, 8) से होकर गजुरती ह ै?

A. 1

B. 4

C. 3

D. 2
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Intercept of a Line

• y 

b

x

a                     
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Ques-: Find area of the quadrilateral formed by both the axis and the lines 8x + 5y 

= 40 and 12x + 15y = 180 ?

उदा: रेखाओ िं 8x + 5y = 40 और 12x + 15y = 180 तिा अक्षों द्वारा वनवमषत चतभुुषज का के्षत्रफल 

ज्ञात कीवजये ?

A. 90 cm2

B. 20 cm2

C. 70 cm2

D. 40 cm2
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Ex: Find the length of the intercept made by both the axis by a line 3x + 4y = 

12 ?

रेखा 3x + 4y = 12 द्वारा दोनों अक्ष पर बनाये गये अन्तः खण्ड की लम्बा  ज्ञात कीवजये ?

A. X= 3 , Y= 2

B. X = 4 , Y= 3

C. X= 6, Y = 4

D. X = 5, Y= 3 
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Ex: Find the equation of line whose slope is 5 and the intercept on y-axis is 2 ?

रेखा का समीकरण ज्ञात कीवजये वजसका ढलान 5 ह ैऔर y- अक्ष पर अन्तःखण्ड 2 है ?

A. Y= 5x + 2

B. X = 3x + 5

C. Y = 4x -2

D. Y = 2x +5 
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Ex: Find the equation of line whose ending points are (4, 6) and (10, 8) ?

एक रेखा का समीकरण ज्ञात कीवजये वजसके अिंत वबन्द ु(4, 6) और (10, 8) हैं ?

A. x + 3y = 14

B. 2x + 3y = 7

C. x-3y = -14

D. 5x + 3y = 14
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Conditions of parallelism of lines

रेखाओ िं के समान्तर होने का प्रवतबन्ध

If the slopes of two lines is m
1 
and m

2
, and if they are parallel, then 

यवद दो रेखाओ िं की प्रिणता m
1
और m

2
हैं, और यवद िे समान्तर हैं, तो 

m
1

= m
2
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Conditions of perpendicular of lines

रेखाओ िं के लम्बित होने का प्रवतबन्ध

If the slopes of two lines is m
1

and m
2
, and if they are perpendicular, then 

यवद दो रेखाओ िं की प्रिणता m
1
और m

2
हैं, और यवद िे लम्बित हैं, तो 

m
1
×m

2 
= -1
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Distance between Two Lines

र्दो रेख ओां के बीच की रू्दरी

If two lines are parallel, the distance between them will always be same. 

When two straight lines are parallel whose equations are ax
1

+ by
1

+ c
1

= 0 and ax
2

+ by
2

+ c
2

= 0, then the distance between them is given by

यवद दो रेखाएिं समान्तर हैं, उनके बीच की दरूी हमेशा समान रहगेी |

जब दो सरल रेखाएिं समान्तर हैं वजनकी समीकरण क्रमशः ax
1

+ by
1

+ c
1

= 0 और ax
2 

+ by
2

+ c
2

= 0 हैं, तो 

उनके बीच की दरूी दी गयी है

c
1
− c

2

𝑎2+𝑏2
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Length of perpendicular on a Line

एक रेखा पर लम्ब की लम्बा 

The length of perpendicular from a given point (x
1
, y

1
) to a line ax + by + c = 0 is 

given by: 

एक वदए गए वबन्द ु(x
1
, y

1
) से एक रेखा पर ax + by + c = 0 पर लम्ब की लम्बा  दी जाती ह:ै 
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Ex: Find the perpendicular distance from a point (2, 3) to the line 3x + 4y + 7 = 0 

?

एक वबन्द ु(2, 3) से रेखा 3x + 4y + 7 = 0 पर लम्बित दरूी ज्ञात कीवजये ?

A. 3

B. 5

C. 7

D. 8
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Angle between Two Lines

दो रेखाओ िं के बीच का कोण
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Ex: Find the angle between two lines x – 3y + 13 = 0 and x + 2y – 111 = 0 ?

उदा: दो रेखाओ िं x – 3y + 13 = 0 और x + 2y – 111 = 0 के बीच का कोण ज्ञात कीवजए । 

A. 30

B. 45

C. 60

D. 90
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Condition for Solvability (हल होिे के प्रनिबन्द्ध )

a
1
x + b

1
y + c

1
= 0 ,           a

2
x + b

2
y + c

2
= 0

• Unique Solution (अवद्वतीय हल)  
𝑎
1

𝑎
2

≠
𝑏
1

𝑏
2

• An infinite number of solutions (एक अनन्त सिंख्या में हल के वलए)

𝑎
1

𝑎
2

= 
𝑏
1

𝑏
2

= 
𝑐
1

𝑐
2

• No solution, (को  हल नहीं )

𝑎
1

𝑎
2

= 
𝑏
1

𝑏
2

≠
𝑐
1

𝑐
2
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Ex: If 2x + 3y = 122  and 4x + ky = 119 have a unique solution, then the value of k is

उदा: यवद 2x + 3y = 122 और 4x + ky = 119 का एक अवद्वतीय हल ह,ै तो k का मान है

A. 6

B. 5

C. 7

D. 9
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Ex: Ex: If 9x + 4y = 15 and kx + 12y = 45 are coincident lines then the value of k is

उदा: यवद 9x + 4y = 15 और kx + 12y = 45 सम्पाती रेखाएिं हैं तो k का मान है

A. 16

B. 15

C. 27

D. 18
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